
¤®ô ö×!”-(1) 

1.	 þ›yöì¢îû !‹þöìe ÐABD = 20°, ÐACD = 
30° ~î‚ ÐBDC = 110°, ÐBACéŸé~îû 
þ›!îûôyþ› †þ•þÚ

	 (a) 45°

 	 (b) 60°

	 (c) 75°

	 (d) 100°

2.	 DABC ~îû ÐA > ÐB > ÐC ~î‚ ÐA, ÐB, ÐCéŸé~îû ôyl þ›)”Å¤‚‡Ä†þ 
!’þ!@ýÌöì•þ ²Ì˜_– ÐAéŸé~îû ¤½þyîÄ ôyl †þ•þÚ 

	 (a) 65°	 (b) 70°	 (c) 60° 	 (d) 61°

3.	 ö†þyöìly ¤ô•þöì¡ xî!Þí•þ þ›„y‹þ!�þ !î¨%îû ôöì™Ä !•þl!�þ ~†þ¥z ¤îû¡öìîû‡yëû 
xî!Þí•þ— G¥z !î¨%ˆ%!¡ !˜öìëû †þ•þˆ%!¡ ¤îû¡öìîû‡y x„y†þy ëyöìîÚ

	 (a) 6	 (b) 7	 (c) 5 	 (d) 8

4.	 ~†þ!�þ ö†þy” ~î‚ G¥z ö†þyöì”îû þ›)îû†þ ö†þyöì”îû xhsýîû 28° ¥öì¡– G¥z 
ö†þy”!�þîû þ›!îûôyþ› †þ•þÚ

  	 (a) 59°	 (b) 31°	 (c) 28°	 (d) 49°

ˆ!”•þ !¢Çþyî#Çþ” ö†þwì (CPSM)
†,þ!•þc G ˜%îÅ¡•þy !l”Åyëû†þ þ›îû#Çþy-2023

!löì˜Å¢õ þ’þz_îûþ›öìe ö•þyôyîû lyô– ö×!”– öîûy¡ lÁºîû ¥z•þÄy!˜ !˜öì•þ ¥öìîÐ 
²ÌöìÙÀ ö˜Gëûy (a), (b), (c) îy (d) ’þz_îûˆ%!¡îû ôöì™Ä ¤!‘þ†þ ’þz_îû !lîÅy‹þl 
†þöìîûyÐ ’þz_îûþ›öìe ~¥z ’þz_îû l#¡à†þyöì¡y î¡ öþ›öìl  ~¥zîû)þ› èþîûy�þ †þöìîû 
˜yGÐ öëôl– ‘X’ þlÁºîû ²ÌöìÙÀîû (c) ¤!‘þ†þ ’þz_îû ¥öì¡ ’þz_îûþ›öìe ëíyíÅÞíyöìl 
~îû)þ› !‹þ¥« î¤yGÐ ²ÌÙÀõ X:    Ð îûyæþ †þy� þ›,í†þ †þyˆöì� †þöìîûyÐ 
!•þl!�þ è%þ¡ ’þz_öìîûîû �lÄ ~†þ lÁºîû †þy�þy ëyöìîÐ

¤®ô ö×!”

A

B
D

C



¤®ô ö×!”-(2) 

5.	 ö†þyöìly ö†þyöì”îû xhsý/¤ô!m‡[þ†þ ~î‚ î!¥/¤ô!m‡[þöì†þîû ô™Äî•Åþ# 
ö†þy”!�þîû þ›!îûôyþ› ¥¡

	 (a) 180°	 (b) 100°	 (c) 90°	 (d) 60°

6.	 öëéŸéö†þyöì”îû þ›!îûôyþ› ’þz¥yîû þ›)îû†þ ö†þyöì”îû ~†þéŸé•,þ•þ#ëûy‚¢ •þyîû þ›!îûôyþ› 
¥¡

	 (a) 22½°	 (b) 67½°	 (c) 30°	 (d) 45°

7.	 1° ö†þyöì”îû ¤Á›)îû†þ ö†þyöì”îû ôyl ¥¡

	 (a) 89°	 (b) 179°	 (c) 199°	 (d) 99°

8.	 ö†þyöìly î¥%•þ¡öì†þîû •þ¡¤‚‡Äy F– ¢#£ìÅ!î¨%îû ¤‚‡Äy V ~î‚ ™yîû¤‚‡Äy E 
¥öì¡ xëû¡yöìîûîû ¤)e!�þ ¥¡

	 (a) F + V + E = 12	 (b) F – V + E = 2

	 (c) F + V – E = 2	 (d) F – V – E = 2

9.	 l#öì‹þîû ö†þylä !‹þe!�þ î¥%•þ¡†þ ¤)!‹þ•þ †þöìîû lyÚ

	 (a)  	 (b) 	

	 (c) 		  (d) 

10.	 îˆÅy†þyîû è)þ!ô!î!¢Tþ ¡Áº !²Ì�öìôîû •þ¡¤‚‡Äy ¥¡

	 (a) 4	 (b) 8	 (c) 5	 (d) 6

11.	 l#öì‹þîû ’þz!=þˆ%!¡îû ôöì™Ä ö†þylä!�þ ¤!‘þ†þ lëûÚ
	 (a) îûÁºöì¤îû †þ”Åmëû x¤ôylÐ	 (b) îˆÅöìÇþöìeîû †þ”Åmëû ¤ôylÐ
	 (c) ¤yôyhsý!îûöì†þîû †þ”Åmëû x¤ôylÐ	 (d) †þy¥zöì�þîû (kite) †þ”Åmëû x¤ôylÐ



¤®ô ö×!”-(3) 

12.	 ¤%£ìô £ì’þüè%þöì�îû ²Ì!•þ¤yôÄ xöìÇþîû ¤‚‡Äy ¥¡

	 (a) 3 	 (b) 2 	 (c) 9	 (d) 6

13.	 ö†þyöìly ¤yôyhsý!îûöì†þîû ~†þ!�þ ö†þy” ¤ôöì†þy” ¥öì¡ ¤yôyhsý!îû†þ!�þ ~†þ!�þ

	 (a) îˆÅöìÇþeþ 	 (b) xyëû•þöìÇþe	 (c) îûÁº¤	 (d) †þy¥z�þ

14.	 10° ö†þyöì”îû þ›)îû†þ ö†þyöì”îû ¤Á›)îû†þ ö†þyöì”îû ôyl ¥¡þ

	 (a) 100°	 (b) 120°	 (c) 170°	 (d) 80°

15.	 þ›yöì¢îû !‹þöìe ABCDE ~†þ!�þ 
þ›Mþè)þ�Ð AB ö†þ Q þ›ëÅhsý 
~î‚ BA ö†þ P þ›ëÅhsý îy’þüyöìly 
¥öìëûöìSéÐ  ÐAED = ÐBCD = 
x°, ÐCDE = 30°, ÐEAP = 
60° ~î‚ ÐCBQ = 70° ¥öì¡ 
xéŸé~îû ôyl †þ•þÚþ

	 (a) 70 	 (b) 90	 (c) 100	 (d) 140

16.	 DABC ~îû ö†þy”ˆ%!¡îû xl%þ›y•þþ1 : 1 : 2; ë!˜ ¤ôyl îy¥%˜%!�þîû ²Ì!•þ!�þîû 
÷˜‰ÅÄ 10 ö¤!ô †þöìîû ¥ëû– •þy¥öì¡ î,¥_ô îy¥%!�þîû ÷˜‰ÅÄ †þ•þÚ

	 (a) 20 ö¤!ôþ	 (b) 20  ö¤!ô	 (c) 10 2  ö¤!ôþ	 (d) 15  ö¤!ôþ

17.	 DABCéŸé~îû AB = 10 ö¤!ô ~î‚ BC = 8 ö¤!ô— AC éŸé~îû ÷˜öì‰ÅÄîû 
¤#ôy ¥¡éŸŸŸé

	 (a) 2 ö¤!ôþ < AC < 18 ö¤!ô 	 (b) 1 ö¤!ô < AC < 9 ö¤!ôþ

	 (c) AC < 18 ö¤!ô	 (d) AC > 2 ö¤!ôþ

18.	 ö†þyöìly xyëû•þöìÇþöìeîû îy¥%ˆ%!¡îû ô™Ä!î¨%ˆ%!¡ þ›îûþ›îû öëyˆ †þîûöì¡ öë 
‹þ•%þè%Åþ� ˆ!‘þ•þ ¥öìî– •þy ¥¡

	 (a) îˆÅöìÇþe	 (b) îûÁº¤	 (c) xyëû•þöìÇþeþ	 (d) †þy¥z�þ
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¤®ô ö×!”-(4) 

19.	 PQRS ~†þ!�þ îûÁº¤ ëyîû ÐPQR = 54°, ÐPRS éŸé~îû þ›!îûôyþ› †þ•þÚ

	 (a) 63°	 (b) 54°	 (c) 68°	 (d) 117°

20.	 ~†þ!�þ ¤%£ìô þ›Mþè%þ� PQRSTéŸé~îû 
îy¥%ˆ%!¡öì†þ ’þzèþëû!˜öì†þ î!™Å•þ †þöìîû 
~†þ!�þ •þyîû†þy!‹þ!¥«•þ !‹þe ABCDE ˆ‘þl 
†þîû¡yô– !‹þe!�þöì•þ ÐA + ÐB + ÐC + 
ÐD + ÐE,= †þ•þÚ

	 (a) 108°	 (b) 180°

	 (c) 270° 	 (d) 360°

21.	 x2 + 1
x2  = 79 ¥öì¡þ x + 1

x  =

	 (a) 81	 (b) ± 9	 (c) 9	 (d) ±3

22.	 (5x2 + 12x + 7) ÷ (5x+ 7) =

	 (a) x + 5	 (b) x + 3 	 (c) x + 7	 (d) x + 1

23.	 x + 2
5  – x – 7

2  = 3 ¥öì¡ x =

	 (a) 6	 (b) – 9	 (c) – 3	 (d) 3

24.	 3x3 – 5x2 – x + 2 öíöì†þ †þ•þ !îöìëûyˆ †þîûöì¡ 4x3 + 3x – 5 íy†þöìîÚ

	 (a) –x3 – 5x2 – 4x – 7	 (b) x3 + 5x2 + 4x – 7

 	 (c) –x3 – 5x2 – 4x + 7	  (d) x3 – 5x2 – 4x + 7

25.	 |–25 | + 9 – | – 4| =

	 (a) 12	 (b) 30	 (c) – 20	 (d) 38

26.	 3a = 2b = 3c ¥öì¡ a : b : c =
	 (a) 2 : 3 : 2	 (b) 3 : 2 : 5	 (c) 2 : 3 : 6	 (d) 10 : 15 : 6
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¤®ô ö×!”-(5) 

27.	 36 : 4 = x : 5 ¥öì¡ x =

	 (a) 45	 (b) 20
9 	 (c) 20	 (d) 5

9

28.	 ~†þ!�þ xyëû•þöìÇþöìeîû öÇþeæþ¡ 540 îˆÅ!ô�þyîû ~î‚ ’þz¥yîû ÷˜‰ÅÄ x !ô�þyîû 
¥öì¡– xyëû•þöìÇþe!�þîû þ›!îû¤#ôy ¥¡

	 (a) 2x2 + 540
x  !ô�þyîû	 (b) 2(x2 + 540)

x  !ô�þyîû

	 (c) x2 + 540
x  !ô�þyîû 	 (d) x2 + 540

2x  !ô�þyîû

29.	 x
5  ~î‚ 12

30 ¤ôyl ¥öì¡ x =

	 (a) 1
2 	 (b) 0 	 (c) 1 	 (d) 2

30.	 x + 1
x  = 4 ¥öì¡ x4 + 1

x4  = 

	 (a) 14	 (b) 194	 (c) 94	 (d) 100

31.	 81p4 – 1 ö†þ 3p – 1 myîûy èþyˆ †þîûöì¡ èþyˆæþ¡ †þ•þ ¥öìîÚ

	 (a) 9p2 + 1		  (b) 27p3 + 9p2 – 3p –1

	 (c) 27p3 – 9p2 + 9p –1 	 (d) 27p3 + 9p2 + 3p + 1

32.	 a + b = 7  ~î‚ a – b = 5  ¥öì¡ 4ab(a2 + b2) =

	 (a) 6	 (b) 48	 (c) 12	 (d) 24

33.	 x = p + 1 ¥öì¡ 	 1
2  (x – 30) – 1

3  (1 – p)  = 1
4  ¤ô#†þîû” öíöì†þ é   

pŸé~îû ôyl !l”Åëû †þìîûÐ

	 (a) 18.1		  (b) 18

	 (c) 181		  (d) ö†þyöìly!�þ¥z lëû



¤®ô ö×!”-(6) 

34.	 ~†þ!�þ xyëû•þy†þyîû îyˆyöìlîû öÇþeæþ¡ (4a2 – 9b2) îˆÅ!ô�þyîû ~î‚ ’þz¥yîû 
²ÌÞí (2a – 3b) !ô�þyîûÐ îyˆyl!�þîû þ›!îû¤#ôy ¥¡

	 (a) 4a !ô�þyîû	 	 (b) 6a !ô�þyîû	

	 (c) 8a !ô�þyîû	 	 (d) (4a + 2b) !ô�þyîû

35.	 x2 + y2 + yz + zx + 2xyéŸé~îû ’þzêþ›y˜†þˆ%!¡ ¥¡éŸŸŸé

	 (a) (y + z) ~î‚ (x + y + z) 	 (b) (z + x) ~î‚ (x + y + z)

	 (c) (x + y) ~î‚ (x + y + z) 	 (d) ö†þyöìly!�þ¥z lëû

36.	 x + y = 11  ~î‚ x – y = 7  ¥öì¡ x2 + y2 =

	 (a) 12	 (b) 18	 (c) 85 	 (d) 9

37.	  a

b


















−
+

99 97
99 97

=

	 (a) b

a
	 (b) a2

b2 	 (c) b2

a2 	 (d) a
b

38.	 x, yéŸé~îû ¢•þ†þîûy †þ•þÚ

	 (a) x
y  % 	 (b) 100x

y %	 (c) 100y
x %	 (d) y

x  %

39.	 619 613 619 613

619 613

2 2+( ) − −( )
×

éŸé~îû ôyl ¥¡éŸŸŸé

	 (a) 2	 (b) 8	 (c) 4	 (d) 1232

40.	 a ~î‚ b ˜%!�þ xë%@Â þ›)”Å¤‚‡Äy ~î‚ a > b ¥öì¡ l#öì‹þîû ö†þylä!�þ ë%@ÂÚ

	 (a) a – b	 (b) a + b + 1	 (c) ab	  (d) ab + 2



¤®ô ö×!”-(7) 

41.	 (1° + 2° + 3°) × 6–1 =  

	 (a) 1
2 	 (b) 2	 (c) 1	 (d) –1

42.	 l#öì‹þîû ¤‚‡Äyˆ%!¡îû ôöì™Ä ö†þylä!�þ öôï!¡†þ ¤‚‡Äy lëûÚ

	 (a) 107	 (b) 109	 (c) 111	 (d) 113

43.	 ˜%!�þ †Êþ!ô†þ xë%@Â ¤‚‡Äyîû îöìˆÅîû xhsýîû ¤îÅ˜y !îèþy�Ä ¥öìî

	 (a) 6 myîûy	 (b) 8 myîûy	 (c) 10 myîûy	 (d) 12 myîûy

44.	 248 52 144+ + =

	 (a) 16	 (b) 4	 (c) 8	 (d) 24

45.	 825éŸé~îû ~†þ†þ Þíyl#ëû xA†þ!�þ ¥¡

	 (a) 2	 (b) 4	 (c) 6	 (d) 8

46.	 (0.1)2, 0 0121. , 0.1222 ~î‚ 0 0004. éŸé~îû ôöì™Ä î,¥_ô!�þ ¥¡éŸŸŸé

	 (a) (0.1)2	 (b) 0 0121.  	 (c) 0.1222 	 (d) 0 0004.

47.	 ~†þ!�þ öîû¡ˆy!’þüîû ˆ!•þöìîˆ ‰^ý�þyëû 72 !†þ!ô ¥öì¡ G¥z öîû¡ˆy!’þü!�þ 5 
ö¤öì†þöìuþ †þ•þ þ›í x!•þ†Êþô †þîûöìîÚ

	 (a) 50 !ô�þyîû	 (b) 75 !ô�þyîû	 (c) 150 !ô�þyîû	 (d) 100 !ô�þyîû

48.	
2

1
3

1
2
11

3
1

3
1

3
1
3

−

+
+

+

=

	 (a) 1	 (b) 38
109 	 (c) 33

109 	 (d) 109
38



¤®ô ö×!”-(8) 

49.	 ~†þ!�þ !¢!îöìîû 1000 �l ÷¤lÄ !Sé¡ ~î‚ •þyöì˜îû 50 !˜öìlîû ‡y˜Ä ô�%•þ 
!Sé¡— 15 !˜l þ›îû †þ•þ �l ÷¤lÄ G¥z !¢!îîû þ›!îû•þÄyˆ †þîûöì¡ xî!¢Tþ 
‡yöì˜Ä xî!¢Tþ ÷¤lÄöì˜îû xyöìîûy 40 !˜l ‹þ¡öìîÚ

	 (a) 225	 (b) 775	 (c) 125	 (d) 250

50.	 l#öì‹þîû ö†þylä!�þ 5.234 †%þ¥zr�þy¡éŸé~îû ¤ôylÚ

	 (a) 0.5234 × 103 !†þ@ýÌy	 (b) 52.34 × 104 @ýÌyô

	 (c) 5234 × 10–3 †%þ¥zr�þy¡	 (d) 0.5234 × 102 !†þ@ýÌy

51.	 −
















× −





= −
−

2

7

7

2

8

343

2 1x

 ¥öì¡ xéŸé~îû ôyl †þ•þÚ

	 (a) x = 3	 (b) x = – 3	 (c) x = 3
2 	 (d) x = – 3

2

52.	 ~†þ�l †,þ£ì†þ ~†þ!�þ ôyöì‘þîû ™yl 10 !˜öìl †þy�þöì•þ þ›yöìîûl !†þév •„þyîû ßf# 
G¥z ôyöì‘þîû ™yl 8 !˜öìl †þy�þöì•þ þ›yöìîûlÐ ë!˜ •þyîûy ˜%�l G¥z ôyöì‘þîû ™yl 
†þy�þöì•þ ¢%îû% †þöìîûl •þy¥öì¡ †þ•þ!˜öìl G¥z ôyöì‘þîû ™yl †þy�þy ö¢£ì ¥öìîÚ 

	 (a) 4 !˜öìl 	 (b) 5 !˜öìl	 (c) 4 1
2  !˜öìl	 (d) 4 4

9  !˜öìl

53.	 ˜%™ G �öì¡îû 64 !¡�þyîû !ô×öì” ˜%™ G �öì¡îû xl%þ›y•þ !Sé¡ 5 : 3; G¥z 
!ô×öì” †þ•þ !¡�þyîû �¡ öô¢yöì¡ ˜%™ G �öì¡îû xl%þ›y•þ 3 : 5 ¥öìîÚ

	 (a) 42 !¡�þyîû		  (b) 43 !¡�þyîû	

	 (c) 42 2
3  !¡�þyîû		 (d) 40 !¡�þyîû

54.	 30 !ô�þyîû îy¥%!î!¢Tþ ~†þ!�þ îˆÅy†þyîû îyˆyöìlîû !èþ•þöìîû ‹þyîû!˜öì†þ ~†þ 
!ô�þyîû ‹þG’þüy ~†þ!�þ îûyhßìy ÷•þ!îû †þîûy ¥¡— G¥z îûyhßìyîû öÇþeæþ¡ ¥¡

	 (a) 59 îˆÅ!ô�þyîû		 (b) 116 îˆÅ!ô�þyîû

	 (c) 232 îˆÅ!ô�þyîû	 (d) ö†þyöìly!�þ¥z lëû



¤®ô ö×!”-(9) 

55.	 !ôƒ ö’þ!èþ’þéŸé~îû ôy!¤†þ xyëû 16000 �þy†þy— !•þ!l •þyîû xyöìëûîû 1
4  x‚¢ 

‡yGëûy˜yGëûyîû �lÄ ‡îû‹þ †þöìîûl– ~î‚ xî!¢öìTþîû 3
20 x‚¢ îy!’þüèþy’þüy 

ö˜l ~î‚ 5
24 x‚¢ öSéöì¡öìôöìëûöì˜îû !¢Çþyîû �lÄ ‡îû‹þ †þöìîûl– ôyöì¤ •„þyîû 

†þyöìSé †þ•þ �þy†þy xî!¢Tþ íyöì†þÚ

	 (a) 4300 �þy†þy		  (b) 3850 �þy†þy	

	 (c) 3300 �þy†þy		  (d) 7700 �þy†þy

56.	 50 ö†þ ~ôl ˜%¥z x‚öì¢ èþyˆ †þîûy ¥¡ öël x‚¢möìëûîû xöìlÄylÄ†þmöìëûîû 
¤ô!Tþ 1

12. ¥ëû— x‚¢˜%!�þ ¥¡éŸŸŸé

	 (a) 36, 14 	 (b) 28, 22	 (c) 26, 24	 (d) 30, 20

57.	 ö†þyöìly ö×!”îû SéyeSéye#öì̃ îû îëûöì¤îû ˆ’þü 15.8 îSéîûÐ G¥z ö×!”îû Séyeöì̃ îû 
îëûöì¤îû ˆ’þü 16.4 îSéîû ~î‚ Séye#öì̃ îû îëûöì¤îû ˆ’þü 15.4 îSéîûÐ G¥z ö×!”îû 
Séye¤‚‡Äy ~î‚ Séye#¤‚‡Äyîû xl%þ›y•þ ¥¡éŸŸŸé

	 (a) 1 : 2	 (b) 2 : 3	 (c) 3 : 4	 (d) 4 : 5

58.	 ~†þ!�þ xy†þ!îûöì†þ 12% •þyôy xyöìSé– 69 !†þ@ýÌy •þyôy ’þzêþ›y˜öìlîû �lÄ G¥z 
xy†þ!îû†þ öíöì†þ †þ•þ !†þ@ýÌy xy†þ!îû†þ îÄî¥yîû †þîûöì•þ ¥öìîÚ

	 (a) 424 !†þ@ýÌy 	 (b) 600 !†þ@ýÌy	 (c) 828 !†þ@ýÌy	 (d) 575 !†þ@ýÌy

59.	 ~†þ!�þ öîû¡ˆy!’þüîû ˆ!•þöìîˆ •þyîû ßºyèþy!î†þ ˆ!•þöìîöìˆîû ö‹þöìëû ‰^ý�þyëû 
5 !†þöì¡y!ô�þyîû î,!å™ †þîûöì¡ 300 !†þ!ô ˜)îûöìcîû ~†þ!�þ ˆhsýîÄ Þíyöìl 
öþ›ï„Séyöì•þ öîû¡ˆy!’þü!�þîû 2 ‰^ý�þy †þô ¤ôëû ¡yöìˆ— öîû¡ˆy!’þü!�þîû ßºyèþy!î†þ 
ˆ!•þöìîˆ †þ•þÚ

	 (a) 30 !†þ!ôà‰^ý�þy	 (b) 50 !†þ!ôà‰^ý�þy	

	 (c) 45 !†þ!ôà‰^ý�þy	 (d) 25 !†þ!ôà‰^ý�þy



¤®ô ö×!”-(10) 

60.	 ö†þyöìly ~†þ!�þ ¤‚‡Äyöì†þ 6 myîûy èþyˆ †þîûöì¡ 3 xî!¢Tþ íyöì†þ— G¥z 
¤‚‡Äyîû îˆÅöì†þ 6 myîûy èþyˆ †þîûöì¡ †þ•þ èþyˆöì¢£ì íy†þöìîÚ

	 (a) 3 	 (b) 1	 (c) 2	 (d) 0

61.	 ~†þ!�þ ¤%£ìô þ›Mþè%þöì�îû †þ”Å¤‚‡Äy †þ•þÚ

	 (a) 10 	 (b) 5	 (c) 6	 (d) 8

62.	 ~†þ!�þ xyëû•þöìÇþöìeîû ÷˜‰ÅÄ G ²ÌÞí ëíy†Êþöìô (7x2 – y2) ö¤!ô ~î‚ (x–y) 
ö¤!ôÐ xyëû•þöìÇþe!�þîû öÇþeæþ¡ ¥¡éŸŸŸ

	 (a) 7x3 – 7x2y – xy2 + y3 îˆÅöì¤!ô

	 (b) 7x3 + 7x2y – xy2 + y3 îˆÅöì¤!ô

	 (c) 7x3 + 7x2y – xy2 – y3 îˆÅöì¤!ô	

	 (d) 7x3 – x2y – 7xy2 + y3 îˆÅöì¤!ô

63.	 þ›yöì¢îû !‹þöìe Œößñ¡ xl%ëyëû# 
löì¥Š QV ||PR, ÐPSR= 
100°, ÐPRS = 40°, ÐQPS 
= 85°, ÐPQR = 40°; 
ÐRQV = †þ•þÚ

	 (a) 95°	 (b) 45°	 (c) 85°	 (d) 65°

64.	 7
3  x2 – 10 = 7

5  x2 + 200 ¥öì¡ x =
	 (a) 20	 (b) ± 15	 (c) ±10	 (d) ± 5

65. 	 100 !�þ ¤‚‡Äyîû ˆ’þü 44— G¥z 100 !�þ ¤‚‡Äy ~î‚ xyöìîûy 4 !�þ l•%þl 
¤‚‡Äyîû ˆ’þü 50 ¥öì¡ G¥z l•%þl ‹þyîû!�þ ¤‚‡Äyîû ˆ’þü †þ•þÚ

	 (a) 240	 (b) 176	 (c) 210	 (d) 200

66. 	 ö†þyöìly xyëû•þöìÇþöìeîû ~†þ!�þ †þ”Å xyëû•þöìÇþe!�þîû ~†þ!�þ îy¥%îû ¤yöìí 34° ö†þy” 
’þzêþ›§¬ †þöìîûöìSé– xyëû•þöìÇþe!�þîû †þ”Å̃ %!�þîû ô™Äî•Åþ# ¤)-öì†þy”!�þîû þ›!îûôyþ› ¥¡

	 (a) 42°	 (b) 56°	 (c) 78°	 (d) 68°

P
Q

RS
V

T



¤®ô ö×!”-(11) 

67.	 x2 = x ¥öì¡ xŸé~îû ôyl †þ•þÚ 

	 (a) 0	 (b) 1 	 (c) 0, 1	 (d) ö†þyöìly!�þ¥z lëû

68. ~†þ xA†þ!î!¢Tþ î,¥_ô öôï!¡†þ ¤‚‡Äy!�þ ¥¡éŸŸŸé

	 (a) 7	 (b) 9	 (c) 5 	 (d) 3

69.	 bc + ca + ab = 0 ¥öì¡  1
a2 – bc  + 1

b2 – ca  + 1
c2 – ab  = †þ•þÚ

	 [²Ì˜_ a + b + c ¹ 0]

	 (a) 1	 (b) 0	 (c) a + b + c	 (d) 1
3

70.	 ~†þ�l öæþ!îûGëûy¡y �þy†þyëû 6 !�þ ˜öìîû ‹þöì†þyöì¡�þ !†þöìl �þy†þyëû †þëû!�þ †þöìîû 
!î†Êþëû †þîûöì¡ •þyîû 20% ¡yèþ íy†þöìîÚ

	 (a) 3	 (b) 4	 (c) 5 	 (d) ö†þyöìly!�þ¥z lëû

71.	 ~†þ!�þ !eè%þöì�îû ö†þy”ˆ%!¡îû xl%þ›y•þ 1 : 1 : 2 G¥z !eè%þöì�îû ¤ôyl 
îy¥%˜%!�þîû ²Ìöì•þÄ†þ!�þîû ÷˜‰ÅÄ 10 ö¤!ô ¥öì¡ !eè%þ�!�þîû î,¥_ô îy¥%!�þîû 
÷˜‰ÅÄÚ

	 (a) 20 ö¤!ô	 (b) 12 ö¤!ô 	 (c) 15 ö¤!ô	 (d) 10 2  ö¤!ô

72.	 DABCéŸé~îû AC = BC ~î‚ ÐBAC = 70° ¥öì¡ ÐBCAéŸé~îû ôyl †þ•þÚ
	 (a) 70°	 (b) 40°	 (c) 80°	 (d) 45°

73.	 tŸ~îû ö†þylä Œîy ö†þylä ö†þyläŠ ôyöìlîû �lÄ x2 – tx + 0.25 îûy!¢ôy¡y 
þ›)”ÅîˆÅ ¥öìîÚ

	 (a) –1	 (b) 1 	 (c) 1 xíîy – 1  	(d) 2 xíîy –2

74.	 (a + b + c) ~î‚ (a2 + b2 + c2 – bc – ca – ab)Ÿ~îû ˆ%”æþ¡ ¥¡

	 (a) a3 + b3 + c3	 (b) a3 + b3 + c3 + 3abc

	 (c) a3 + b3 + c3 – abc	 (d) a3 + b3 + c3 – 3abc



¤®ô ö×!”-(12) 

75.	 180 �þy†þy ~†þ îê¤îû þ›îû ¤%öì˜éŸéô)öì¡ 198 �þy†þy ¥öì¡ îy!£ìÅ†þ ¤îû¡ ¤%öì˜îû 
¥yîû ¥¡éŸŸŸé

	 (a) 5% 	 (b) 18%	 (c) 10% 	 (d) 20%

76. a + b = 9 ~î‚ a – b = 5 ¥öì¡ a2 + b2

 2ab Ÿ~îû ôyl †þ•þÚ 

	 (a) 81
25	 (b) 106

45 	 (c) 53
28	 (d) 53

2

77.	 ˜%¥zéŸéxA†þ!î!¢Tþ ~†þ!�þ ¤‚‡Äyîû xA†þmöìëûîû xhsýîû 3; ë!˜ ¤‚‡Äy!�þîû 
xA†þmëû þ›îûß›îû Þíyl !î!lôëû †þîûöì¡ öë ¤‚‡Äy!�þ þ›yGëûy ëyëû •þy ô)¡ 
¤‚‡Äyîû ¤yöìí öëyˆ †þîûy ¥ëû– •þy¥öì¡ ²Ìy® öëyˆæþ¡!�þîû ôyl 143 ¥ëûÐ 
ô)¡ ¤‚‡Äy!�þ †þ•þÚ

	 (a) 74	 (b) 85	 (c) 63	 (d) 96

78.	 x + 1
2  + x + 3

2  = 4 ¥öì¡ éxŸé~îû ôyl ¥¡

	 (a) 2 	 (b) 1	 (c) 3	 (d) 4 

79.	 x4 – 4 éŸé~îû ~†þ!�þ ’þzêþ›y˜†þ ¥¡

	 (a) x + 1	 (b) x + 2	 (c) x – 2	 (d) x2 + 2

80.	 ~†þ!�þ ô¤,” ‡%„!�þîû ’þzF‹þ•þy 10 !ô�þyîû— ~†þ!�þ îylîû G¥z ‡%„!�þ öîöìëû ’þz‘þöì•þ 
¢%îû% †þîû¡— îylîû!�þ ~†þ !ô!löì�þ 5 !ô�þyîû Gþ›öìîû Göì‘þ !†þév !‘þ†þ þ›îûî•Åþ# 
!ô!löì�þ !þ›Séöì¡ 4 !ô�þyîû ölöìô ëyëûÐ ¢%îû%îû †þ•þ !ô!l�þ þ›îû îylîû!�þ G¥z 
ô¤,” ‡%„!�þîû Gþ›öìîû ’þz‘þöìîÚ

	 (a) 11 !ô!l�þ	 (b) 2 !ô!l�þ	 (c) 6 !ô!l�þ	 (d) 10 !ô!l�þ


